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Borg Scale | o0 | 0/0 | 00 l0.5/000.5/00 171 122 (22 122 133 s | ass |56 L 6r7 L8 179 loo | o9
RR 163 22 224 24.1 23.7 26.4 26.6 283 299 |(/min)
TV 3534 768 905 942 1120 1140 1308 1412 1479 |mD)
VE 8.7 16.8 203 2.7 26.6 30.0 34.8 40.0 442 |{l/min)
VOZ| 211 458 556 649 751 858 953 1083 1178 |{ml/min)
VO2/W| 35 7.6 9.3 10.8 12.5 14.3 15.9 18.1 19.6
VCOZ| 163 375 470 549 673 770 910 1068 1207 __|(ml/min)
RI_077 0.82 0.85 0.85 0.90 0.90 0.95 0.99 1.02
VE/VOZ| 44 37 37 35 33 35 37 37 38
VE/VCO2 53 45 43 41 40 39 38 38 37
VD/VT| 043 0.40 0.39 0.38 0.36 0.37 0.36 033 0.35
HR| 7 82 85 90 96 105 112 122 131 ___|(/min)
VOZ/HR| 29 5.6 6.5 7.2 7.8 8.2 8.3 8.9 9.0
METS ] 2,18 2.65 3.09 3.58 4,09 4.54 5.16 5.61
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[=AR] STZE{L, / ny;
| ECGRFR. VPB [HL]| | sves (%L 2ol x:::] O1 On gm JavR Javh [JaVF |

DType mm
2.pealcVO2IZ Tl ( mi/min) @ [ 772 | %THY @R [ |RF®mTS e R
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HRmax/THR= %
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Watt
Borg Scale | /0| 0/0 0.5/00 11 [ 272 122 (22 [ 373 Tasa | a/a | 505 | 66 | 66 606 | 6/6 | 6/7 | 718
RR | 207 23 23.6 22.8 25.1 27.2 26.4 26.2 26.3 (/min)
TV 446 1282 1384 1416 1380 1348 1311 1356 1334 (m1)
VE 92 29.8 32.6 323 34.7 36.7 34,6 35.5 35.1 (1/min)
VO2| 248 972 966 951 991 1002 995 980 964 (ml/min)
VO/W | 4 16.2 16.1 159 16.5 16.7 16.6 16.3 16.1
VCOZ | 134 787 870 874 912 927 901 899 882 (mi/min)
RI__070 0.8 0.90 0.92 0.92 0.93 0.91 0.92 091
VE/VOZ| 37 31 34 34 35 37 35 36 36
VE/VCO2 53 38 38 37 38 40 38 40 40
VD/VT| 046 0.35 0.35 0.34 0.35 0.33 0.35 033 0.35
HR 79 109 114 116 122 123 124 126 129 (/min)
VO2/HR | 3 8.9 8.5 8.2 8.1 8.1 8.0 7.8 7.5
METS | 116 4.55 4.52 4,46 4.64 4.69 4.66 4.59 4.52
BP_132/81 | 169/77 | 186/77 | 190/75 | 192/75 | 201/71 | 19766 | 193/66_| 190/70 (mmHg)
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SAT ®
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Lactate (mmol/D)
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Ad | (ng/m1)
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092 | 090 0.93
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